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Choose the correct answer from the following: 1x10=10
1. __is the form of marriage in which man marries one woman?
a. Polvgyny b. exogamy
c. polyandry d. monogamy
2. In which state Kuki tribes live?
a. Manipur b. Mizoram
¢. Arunachal Pradesh d. Kerela
3. What is the percentage of tribal population in India?
a. 16.6% b. 8.6%
c. 10.6% d. None of these
4. __isaform of marriage in which one man marries more than one women at a time.
a. Polygyny b. Polyandry
c. Monogamy d. Group Marriage
5. Which of the following regions is the original habitat of “Toda Tribe?
a. Jaintia Hills b. Garo Hills
c. Nilgiri Hills d. Jaunsar Hills
6. Endogamy is a rule of marriage in which the life partner are to be selected within the-
a. sociely b. group
¢. counlry d. None of these

7. In which state of India resides the maximum number of tribes?

a. Madhya Pradesh b. Nagaland
c. West Bengal d. None of these
8. IHow many tribes are there in India?
a. 645 b. 565
c. 345 d. None of these
[l

USTM/COE/R-01




9. Daphla and Lampo tribes are found in which state?

2. Madhya Pradesh b. Rajsathan
¢. Arunachal Pradesh d. None of these

10.  In which state Garo Khasi and Jaintia tribes are located?
a. Assam b. Meghalaya
¢. Madhya Pradesh d. None of these

USTM/COE/R-01



Time : 1 hr.15 mins.

!J

s

( Descriptive )

Marks : 25

[Answer question no.1 & any two (2) from the rest ]

Discuss the meaning, definitions and characteristics of Indian
tribes

Explain the term Sanskritization. Discuss its effects on Indian

society.

Define the term caste-tribe continuum. Explain the Dbasic
sateguards provided by Indian Constitution for Scheduled

Tribes

Discuss the concept of marriage among tribals in India. Explain

its types.

Define the term tribal council. Discuss administrative sctup of

tribal areas in India.

131

3+3+4
=10

4+6=10

3+7=10

4+6=10
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